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QUESTION 1
(single) Is the following description correct?

The MA5600T/MA5680T supports Ethernet, E1, and POTS services on the PON side and does not support ATM
services.

A. True
B. False

Correct Answer: A

QUESTION 2

(single) What type of access interface does the ONU have to provide when carrying a TDM signal in a GPON system?
A. Eth

B. POTs

C.E1

D. STM-1

Correct Answer: C

QUESTION 3

(single) Which of the following products in the GPON network does not belong to the MDU series?
A. MA5616

B. MA5612

C. MA5620G

D. MA5680T

Correct Answer: D

QUESTION 4

(Single-choice) An IPTV user reflects that the TV cannot be watched, open the debug switch on the OLT side, and the
debug printing information is as follows: huawei( config).

This can be judged by the results of the query

A. The poN port multicast bandwidth is insufficient
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B. The user does not have permission to watch the show
C. IGMP Sakamoto Fussel
D. User bandwidth validation failed

Correct Answer: D

QUESTION 5

(multiple) The called phone can ring normally but does not display the caller number. What are the possible reasons?
A. Softswitch does not have a caller ID configured

B. AG did not receive the caller ID information of the softswitch

C. The environment of the equipment room is not good, such as equipment, patch panels, grounding, etc.

D. The user\\'s phone does not support caller ID

Correct Answer. ABCD
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